=5 4Y/HIE o[0ix|

© HEINRICH KIPP WERK GmbH & Co. KG

M OlR2:

EE Etsl 2 YA AbsE R 2.

% BE: IetA AT A o= k7 H A
HH.

MH|7t 2 2 Ez OIE B4

AMIM2]:
K0106
K0098
K0383
K0388
K0390
K0391
K0392
K0393

=M MA:
1) AEH El {X[1
2) AEH E 2[x| 2

www.kipp.com - info@kipp.com 1/4



K

i AXRIS A o = o] AL
2 ZUT SAY STW Y THY SUT AL

&5 89/HMF ololx|

product
design
award W

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  2/4



g
7 g
(& &
st = *A Fany )
@ i I ® 38 s,
g M =
. X
T —
nnnd =< n..nnJ =<
@ D_” ﬁvk @ & ﬁﬁ.\ |
LAY
< 2
i
il
<l
0
=
nl
mn
60
m_ mo
-r_____ o 1 ____._____
T S o % 70
Ao =4 N Zl
A_u = i ) K1
= ok
B - - ME
ﬂﬂ a3 B 5 [
r=) = 7 0
H| X ! ! KT
=] M N o AT
n 7o 2 = or H|
my v = < . o0 3
- o = zd or mu
LI WA

3/4

www.kipp.com - info@kipp.com

© HEINRICH KIPP WERK GmbH & Co. KG



(]
2 SUT XS SR U IHS SUWI ARS
== g9
FEHS THE Ay oM E o2 AEH glx H X1 HeAx2 N7 AE & HEdd 2os 245 2429
Eoiotol #oioto] soigfo] ol glo] I8 FH O F1 F2 F3 F4
HE A HF AE 7 Z4E HWFAEWF Z4E AEHPS N N N N N
K0662.005001 =M RAL 5002 100° - 147° 64° - 83° 100 750 1050 620 750
K0662.006001 =4 RAL 5002 56° 83° 152° 46° 56° 83° 160 1350 1650 920 1050
K0662.008001 =M RAL 5002 13° 93° 158° 26° 61° 86° 190 2000 2800 940 1350
K0662.010001 =M RAL 5002 6° 97° 176° 19° 59° 91° 250 2500 4500 1500 2800
K0662.012001 =& RAL 5002 11° 88° 164° 24° 60° 91° 280 3000 5500 1400 2800
K0662.005000 43| M RAL 7021 100° - 147° 64° - 83° 100 750 1050 620 750
K0662.006000 A3|M RAL 7021 56° 83° 152° 46° 56° 83° 160 1350 1650 920 1050
K0662.008000  Z=|4 RAL 7021 13° 93° 158° 26° 61° 86° 190 2000 2800 940 1350
K0662.010000 3| M RAL 7021 6° 97° 176° 19° 59° 91° 250 2500 4500 1500 2800
K0662.012000 A3|M RAL 7021 11° 88° 164° 24° 60° 91° 280 3000 5500 1400 2800
K0662.005003 4l=S #Z RAL 3020  100° - 147° 64° - 83° 100 750 1050 620 750
K0662.006003 4= S iz RAL 3020 56° 83° 152° 46° 56° 83° 160 1350 1650 920 1050
K0662.008003 4!=5 Wz RAL 3020  13° 93° 158° 26° 61° 86° 190 2000 2800 940 1350
K0662.010003 4l=S #Z RAL 3020 6° 97° 176° 19° 59° 91° 250 2500 4500 1500 2800
K0662.012003 45 & #Z RAL 3020 11° 88° 164° 24° 60° 91° 280 3000 5500 1400 2800
FEHS THE M AR M AA1 A2 A3BB1 B2 B3 B4B5B6 C D H L L1 FEHs.
2 A2 2efz
K0662.005001 =M RAL 5002 2 M5x25 1625 4,5 142433 13,2 9,2 22 2 22,5 18 451074 656 35 K0098.02
K0662.006001 =& RAL 5002 3 M6x35 1429 7 122738175125 - 2543524955 156,3 86,5 53  K0098.02
K0662.008001 &AM RAL 5002 3 M8x45 2139 9 193245206 156 - 2,541,532,76,8 184,2 107 62 K0098.04
K0662.010001 =M RAL 5002 4 M10x55 3250 8 274564 255 18,5383,5 47 38,7 9 2239 153 95  KO0098.06
K0662.012001 =& RAL 5002 5 M12x70 3253 10,5 - 4563 28 21 - 3,5 47 46,7 8,8 242,4 173,5 113,5 K0098.06
K0662.005000 3| M RAL 7021 2 M5x25 1625 4,5 142433 13,2 9,2 22 2 22,5 18 451074 656 35 K0098.02
K0662.006000 A3|A RAL 7021 3 M6x35 1429 7 122738 17,5125 - 2,543,524,955 156,3 86,5 53  K0098.02
K0662.008000 ZAz|A RAL 7021 3 M8x45 2139 9 193245206 156 - 2,541532,76,8 1842 107 62  K0098.04
K0662.010000 3| M RAL 7021 4 M10x55 3250 8 274564 255 18,5383,5 47 38,7 9 2239 153 95  KO0098.06
K0662.012000 A3|A RAL 7021 5 M12x70 3253 10,5 - 4563 28 21 - 3,56 47 46,7 8,8 242,4 173,5 113,56 K0098.06
K0662.005003 =S Wz RAL 3020 2 M5x25 1625 4,5 142433 13,2 9,2 22 2 225 18 451074 656 35 KO0098.02
K0662.006003 4155 ¥Z RAL 3020 3 M6x35 1429 7 122738 17,5125 - 2,543,524,955 156,3 86,5 53  K0098.02
K0662.008003 /=S #Z RAL 3020 3 M8x45 2139 9 193245206 156 - 2,541,532,76,8 184,2 107 62 K0098.04
K0662.010003 &l=5 Wz RAL 3020 4 M10x55 3250 8 274564 2551853835 47 38,7 9 2239 153 95  K0098.06
K0662.012003 43S ¥Z RAL 3020 5 M12x70 3253 10,5 - 4563 28 21 - 3,5 47 46,7 8,8 242,4 173,5 113,56 K0098.06
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  4/4



